1-20

Saturday, 16 March 2019 11:55 AM

1-20* A transmission line truss supports 4 5-kN |0;:“(1 a:‘dstogn S UPPO( \ K&_ﬂC‘\"\OnS ﬂfﬁ‘és c
in Fig. P1-20. Determine the forces in members FGra s MA =0 ﬁ'ﬂ' /
onl = O
f-3mp-3mS _ \";.\/_("\) - 5 cos(50)(3) + 551 (3H(0)=0 I Yo' 0/ A
- Bvy=1.%
Ly bl" ) n o Q"’\ ‘ - o )\
2My =0 Cor VA\Q
Ay D - 5 ¢o5 (30D (1D 5 5n(30)(19): — — e
LAV SN | 3 | . ©
g 3
e%x=0 T
AX'\' 5 5'nn (50'_) =0
Ax =1 .5kN)
scv=0 @
o €05 (61.UD) + CC cos (4SS =0
ey=0 @
. 3k - FoC 5in (6B.LY) + F_L SN (LS =0
CoL: ot (0S (LYY
LS (¥ S) =065 Fec
Q('OH Eq L.
- L33 ~ 36 sin (€45 + Fee(0.63) Sn (L5°) =0
lf—'eb = 2.93kN (qﬁ
E%\
-1.93 Co5(65.L35) +FBe oS (ks =0
[Foc= 1.38CD))
SOW\'\- A FAL ﬁ ﬂ ;‘25
7Y
L.5kN ,
T €3-%0 =27
1.095 kN q0-97-45=18’
i,?x =0 @
-%.8 rfa¢ S (65D FAG s (WS <0
£6,:0 @ 5= =
996 + FAC SN (E3.L3) +TFag Sin (L&D =0 Facg FAc, (o5 6343 - 0.632. Fac

oS L&
QS-= ' O. y °
L. aaS= Cac swn (63.63) + 0.7a1Cc SIN@S”) Facy = Fac Sim (4S) 079
RCV = .06 Sin C@SE) =
1.5 = Fac (o3(G3u3) + 0.633F4c COS 45 ‘
Facx= —4.%

Week 1 Page 1



